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LML= S EERA = SRR =
JIEAS7 K 4 OUT IN V=0 SN F v b JIEAT. K 4 ouT IN Ja A NT A SN
1 ARk 42 43 85 15.0 70.0 41 | BARCES 53 52 105 24.0 81.0
2 WHE 43 45 88 18.0 70. 0 42 | JFAVENR 46 44 90 8.0 82.0
3 | s L 44 37 81 10.0 71.0 43 | thitE— 42 49 91 9.0 82.0
4 B 45 48 93 22.0 71.0 44 JRER]Z 44 47 91 9.0 82.0
5 | PEHEBEGR 41 44 85 13.0 72.0 45 | 50 43 49 92 10.0 82.0
6 CEEEZE 44 49 93 21.0 72.0 46 /NFEIER 44 48 92 10.0 82.0
7 ORI = 40 43 83 10.0 73.0 A7 | AR 53 59 112 30. 0 82.0
8 JtHE= 43 45 88 15.0 73.0 48 | fEARFIFE 45 46 91 8.0 83.0
9 NI 49 47 96 23.0 73.0 49 | HLFTH 43 49 92 9.0 83.0
10 | VFEEEIR 40 44 84 10.0 74.0 50 | 7)1 R 46 51 97 14.0 83.0
11 | 38 46 84 9.0 75.0 51 | MR 54 46 100 17.0 83.0
12 | FESHESD 41 44 85 10.0 75.0 52 | kKHEH 48 55 103 20. 0 83.0
13 HEK 42 51 93 18.0 75.0 53 | EEAFIRE 48 53 101 17.0 84.0
14 Hf==— 47 47 94 19.0 75.0 54 | FRFTAS— 52 51 103 19.0 84.0
15 | FE)ZEs 40 41 81 5.0 76.0 55 | [LIACE I 52 62 114 30.0 84.0
16 | EBREEA 46 44 90 14.0 76.0 56 | HREFIEE 47 44 91 6.0 85. 0
17 ARHEHKER 43 42 85 8.0 77.0 57 | dHRER 46 53 99 14.0 85. 0
18 | 4@ ALY 44 44 88 11.0 77.0 58 | T H—fH 51 56 107 22.0 85.0
19  Afroc/E 47 47 94 17.0 77.0 59 | HkER 46 44 90 4.0 86.0
20 | [LER=ETR 45 52 97 20. 0 77.0 60 | WEARE— 44 53 97 11.0 86. 0
21 | FRAKER= 43 43 86 8.0 78.0 61  /INIFEA 50 47 97 11.0 86. 0
22 RKBE= 44 47 91 13.0 78.0 62 | ARfEEIE 48 52 100 13.0 87.0
23 | FHEFRR 42 49 91 13.0 78.0 63 | /NEFE: 50 47 97 9.0 88.0
24 HFEHX 46 45 91 13.0 78.0 64 | ML ESL 55 61 116 27.0 89.0
25 NI 47 45 92 14.0 78.0 65 | PEHER 52 52 104 10.0 94.0
26  LHE# 48 46 94 16.0 78.0 66 | FEEFL 55 66 121 27.0 94. 0
27 | HPEHTIKRR 42 48 90 11.0 79.0
28 | [ AR {E 44 47 91 12.0 79.0
29 | HHEL 44 47 91 12.0 79.0
30 AARZ— 42 49 91 12.0 79.0
31 AT E2EL 42 43 85 5.0 80. 0
32 THIREUA 47 42 89 9.0 80.0
33 | ayEE] 52 40 92 12.0 80. 0
34 dARTE R 48 48 96 16.0 80. 0
35 | BAIE 50 50 100 20.0 80. 0
36 | PEATIEG 45 46 91 10.0 81.0
37 | RESFNIE 46 49 95 14.0 81.0
38  LEFIERS 50 45 95 14.0 81.0
39 PEATHE 48 49 97 16.0 81.0
40 | HREFE 47 51 98 17.0 81.0
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